™ _ ofem get 41 g :

931 824(CJ)

Y ; i wve 15 fee qurte : 70

qmT fae

(i) YRR % 15 fme wheniRial = wea-7 ved & foru Puffa €

(i) WYI-T9 Q) WUE — WUE ‘3’ qUT WS ‘| 1 faurfora B |

(iii) @UE ‘3’ 9UT @US @ T 39— I, 1, 3 111 F faenfoa 2 |

(iv) W9H-T9 % @8 ‘W ¥ sgfaswed weA 8 R wdt fasen 1 wee AL HR. -
T e} 37T B ST WEE 9 § T fywed a1l e i 9l F9 "/ 9 HLGELHT. ITH-
TR T 3L & o ITET 36 HIE A€ TUT TEN HYS G5l BT T=AN 7 H |

(v) T ' # sgfeda oA 3 ves e & fou 1 3 Freif@ 2

(vi) W@UZ ‘" T FUiTcH T E |

(vii) ek W9 % g 3 Ryiia st fa mr # |

(viii) @UE ‘@ & Tedeh IY-9T % et W H) T ATY F HEN ETS 2 | TAH IT-HA 7C
g8 & JR o1 S |

(ix) &t e srfvem 2 |

General Instructions :
(i)  First 15 minutes are allotted for the candidates to read the question paper.

(ii) The question paper is divided into two Parts — Part ‘A’ and Part *B°.

(iii) Part “A’ and Part ‘B’ are divided into three Sub-sections 1. I1 and I11.

(iv) In Part ‘A’ of the question paper, there are Multiple Choice Type Questions. Select
the correct alternative and then by a blue or black ball point pen, fill completely in
the circle in OMR Answer-Sheet. Do not erase, cut or use whitener on the OMR
Answer-Sheet after answering.

(v) 1 mark is allotted for each question in the Multiple Choice Type Questions of Part A"

(vi) Part ‘B’ has descriptive questions.

(vii) The allotted marks are given in each question,

(viit) All the questions of Sub-Sections of Part ‘B* are to be attempted all at a time. Start cach
Sub-Section from a new page.

(ix)  All the questions are compulsory.
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feufa 8l B =nfey 7
(A) T BIHH qUT 93h1 g, & g (B) el FR T
(C) THEAFZHAR (D) ma;gaamg@aq%w%aﬁa

2. _wﬁma&wwwmwmaﬂaﬁm@ﬁ-lsﬂvﬂ%tmww
Hﬁﬁiﬁ:g 1
(A) eI raaa (B) W I
(C) 0T Tt o A I (D) i Few qun A I

3. Mmﬁmmﬁﬁaﬁaﬁuﬁmmﬁmﬁﬁaﬁ?mﬁﬁqmﬁ? 1
(A) 50 @t Brerw gl 1 T 3T o (B) Soﬁﬁﬁmaﬁwwmﬁ:ﬁ
(C) 10 & Hrha gt 7 T 3T (D) 10 &t wreFw gl 1 T A T

| fa
1

4, w49 g v w R awg w1 wRifie 9d €, s R 1
(A) ST (B) uftariem
(C) gaeft (D) gfdea

5. 2 =T an T gerd, onard den sy e €, Re farge uftmy ® wger sofiEe § 3R
Rt urvrn T O waifa fee S & | ofiem 3 g wEeE | 3= SR &

JTATE FT B ? 1
(A) 1:2 (B) 2:1 (C) 1:4 (D) 4:1

6. Torege ur s w0 i AfF FFEd € ;
(A) = (B) eanter
(C) Tty (D) HIK

7. Profefee i @ 7 fd o g e R F P g s w e e S e 7 4
(A) T g i 8 T AR e B E |
(B) iy & 1 8 YT TR FHEA E |
() T &t o g Bt et € |
(D) T 8 i G4 &7 W13l 1 F AR g |

- — 11
g 1 fyerad et ferznm Y sfien Fean 1 g9 pH M1 RE 8 ]
(A) 1 (B) 6 (C) 3 (D) 8
6. foiep = o FeH R ST B B R A Freperd & :
(A) O, B) ¢k ©) €O, D) H,
[20f8] (W-1)
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10,

H.

12.

13.

14,

15,

16.

I7.

18,

19.

20.

Os1gA %1 ATH 43 Pl 1

(A) CH, By CH, ., (Cy CH,, (D) CH,, .4
ufezrrse %) uwmAteTE Gqr 3 1
O
0 o
(A) - OH B -c” C) -C- (D) -~C-OH
|
O
3 4 4w ot urg sl 8 A g w frafig w5 2 7 1
(A) Mg/Zn (B) Pt (C) Cu (D) Hg
Frferfem i 4 fam D 4 1o agp svfem 2 o 1
0 O 0 O

l | I I
(A) H-C-H  (B) CH;-C-H (C) CH,-C-OH (D) CH,-C-CH,

3997 — 11
a8 3 0 9 99 3005 99 3 mafaa @ 1
(A) a1 (B) witE (C) ®eH (D) I
YHHA YohH o ERH I A R T 319 § frave g i 1
(A) wAEEEIfvgTe A 4 (B) wifirmgsa &
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(A) famvza (B) HpeH
(C) Yrsguead (D) wWv=q
i g =e s d afEfda g 2 7 ]
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PART - A’ 20
{Multiple Choice Questions)
Sub-Section - |

The image of an object formed by a concave mirror is found virtual, erect and gregier
than the object. Where should be the position of the object 7 1
(A) Between the principal focus and centre of curvature »

(B) On the centre of curvature |

(C) Beyond the centre of curvature

(D) Between the pole and principal focus of mirror

The focal lengths of a spherical mirror and a thin spherical lens are —J 5 ¢cm. The mirror

and lens are possibly y 1
(A) Both concave: (B) Both convex
(C) Concave mirror and convex lens (D) Convex mirror and concave lens

Which of the following lenses would you like at the time of reading small letters, found
in dictionary ? | 1
(A) A convex lens of focal length 50 cm  (B) A concave lens of focal length 50 cm ,
(C) A convex lens of focal length 10 em (D) A concave lens of focal length 10 cm

The part of human eye forming the image of an object is 1
(A) Comea (B) Iris (C) Pupil (D) Retina s

Two conducting wires having same material, length and diameter in an electric circuit
are arranged in series first and then in parallel. The ratio of heat generated in series and
parallel arrangements will be

1
(A) 1:2 (B) 2:1 (C) 1:4 (D) 4:1
The arrangement to produce electric current is called - 1
(A) Generator.. - (B) Galvanometer
(C) Ammeter _ (D) Motor
‘Which of the following describes the correct magnetic field near a long current carrying
wire 7 1

(A) The lines of magnetic field are perpendicular to the wire.

(B) The lines of magnetic field are parallel to the wire.

(C) The magnetic lines of field are radjal.

(D) The lines of magnetic field are concentric with centre on the wire. « .

Sub-Section - II

A solution turns red litmus into blue. The possible pH value of the solution is 1
(A) 1 (B) 6 © 3 (D) 8-

Zinc powder reacts with dilute sulphuric acid to release which of the following gas ? 1
(A) O, (B) Ch (€) €O, (D) H, ,

[dofal W-1\


https://www.upboardonline.com/

10. The general formula for alkyne is 1

oy

(A) CnHZn (B) CnHZn +2 (8 CnHZn _ 2 < (D) C,,H;gn -4
11. The functional group of aldehyde is 1
O
AL i
(A) -OH (B) —C\H . (C) ~C- (D) -C-OH
|
| .0
12. 'Which of the following metal displaces hydrogen from acids ? L
(A), Mg/Zn (B) Pt (C) Cu (D) Hg
13. In which of the following compound Ketonic group is present ? 1
0 0 0 O

I I I h
(A) H-C-H (B) CH;-C-H (C) CH;-C-OH (D) CH;-C-CH;¢

Sub-Section - HI

14, Which of the following is related to excretory system in humans ? 1
(A) Stomach (B) Spleen ('C) Heart (DY Kidney

15. During the process of respiration, the break-down of glucose into pyruvates takes place
in— 1
(A) Mitochondrial matrix (By- Cytoplasm
{(C) Nucleoplasm (D) Lysosome

16. The ability of organism to give rise to new organisms from their body parts, is knownas— 1

(A) Fission (B) Budding (G Regeneration (D) Fragmentation
17.  Which of the following is converted into seed ? 1
(AY Ovule (B) Stigma (C) Style (D} Pollen Grain
18. A section of DNA that provides information for the synthesis of a protein, is called — 1
(A) Trait (By Gene (C) Genotype D) Allele
19.  Which of the following is an example of artificial ecosystem ? 1
(A) Grassland ) (B) Forest
(C) Desert (I Agriculture land formed by humans
20. Which of the following is not a plant hormone ? 1
(A) Auxin (B) Cytokinin (C% Thyroxin (D) Gibberellin

24(CJ) [Sota) (W-1) 3TN
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(1)

(ii)

(ii)

2. (i)

(ii)
2. (i)

(i)
824(CJ)

@Ug - ‘q° / PART- ‘B’ 50
(mm)wescriptivc Questions)

JU-HT — I / Sub-Section - I
WWW%E%%@@@WWWWWW%iﬂW#
HIHH T i | | 2
W o § sryada B qwn mem 3 g qem A % GHE FTEEES I8 S
I AT AT WA R A 7
ﬁm% sin 60° = %,sin 45° = 1 2

V2

AT A
i
[}
HIETH A :'
45¢ hgﬂ mj:nti-ﬁ
w
AR B

An object placed at a distance 25 cm from a concave mirror forms a real image of
size double that of the object. Find the focal length of the mirror. 2
Find the angle of refraction and the refractive index of medium B relative to

medium A in the following figure. Which of the medium is denser and why ?

Given that sin 60° = —3— ,sin 45° = _l_ )
2 V2
Medium A
I
i
Medium A ! .
450 . 90°  Boundary Layer

30°
Medium B

@ fre-3fE QY aren =1fF 20 W gt w fua T W) wea: vg ge @ | g
F 25 Bt g TR Te & ToIe e ai et wiew g w1 o o W o vy
HAT I ? 2
+20 BTAY &A1 % TH hi BIHH gt 71 FIC | 2

A man suffering near sightedness can read clearly a book placed at distance
20 cm. Which type of lens and having how much focal length should be used in
his opticals to read a book placed at 25 ¢m ?

Calculate the focal length of a lens of power +20 Diopter.

[60f8] (W-1)

= K
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3. () af fed qr o e Tre R HGE U WS W W A 3w e weod

a8 ¢ 2
(i) 2ty 3 37w aon § i & § | 7 hE A @ WS T EE W www 3w =
B, TR 3-8 e WA A A el 9 | 2
3. ()  What will be the resistance of a Wire when twisted half 2
(i1) There are two resistances of 3 ohm and 5 ohm. Both resistances are joined in ,

parallel with a cell. Which of the resistances will be hotter ?

4 () 20,24 7om 30 3 Ry A AR AW (a) AofEE (b) T F T R R | IDF
% g vy 3 A | 141

(ii) Fﬂﬁw&wﬁsqﬁmmsﬂwgmwﬁmﬁﬁ%l%mﬁmﬂ;ﬁ
e s T § 7 af TR @ SRR 20 3 &, A T8 FEE J I S
Y Tor1 i | 242

HY

() O Trah T TETd O TaL Y U i T8 FA 8

(i) e @ @ % o @i AR |

(iii) mmmﬁﬁaﬁ@mﬁwmmmﬁm@m%?

2+2+2
4, (i) Three resistances 20, 24 and 30 ohm are joined in (a) series and (b)Y parallel.
Calculate the equivalent resistance in each case. 1+1

(i) A current of 5 ampere is flowing in a circuit for 8 sec. How many electrons pass
through the circuit in this time interval ? If the resistance of the circuit 1s 20 ohm.
calculate the heat produced in this time interval. 2+2

OR

(i) Why do the two magnetic lines of force do not intersect each other ?

(i) Write down the properties of magnetic lines of force.

(iii) When will the force acting on a current carrying conductor be maximum in a

magnetic field ? https://www.upboardonline.com 2+2+2
39-91 — 11 / Sub-Section — 11
5. ﬁﬂﬁ-ﬂf@ﬁﬁ'ﬁﬁ%m@%ﬁﬂ 1+1+1+1=4
() TRmmaR () RO ) A2 () feieRs
5. Write the structural formula of the following compounds : 1+1+1+1=4

(i) Ethanoic acid  (ii) 1-Chloropropane (iii) Butanone-2 (1) Neo-pentane

6. () Touarg Rl #Ea § 7 FIRH G e Pl & m, oA s R fafae 1 2
(i) TR TS (Cu,S) & FIR 41g e TR e 1 1 wdl] 8 T THR T

+ff fafa | 2
6. (i) Whatdo you mean by alloys ? Write the name, composition and uses of two main
alloys of copper. 2

(i) How copper metal can be obtained from copper sulphide (Cu,S) and also write

chemical equations. 2
onAIA I [7efnn {(W-1) PT O
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10.
10.

11.

11.

frofafiga w afrs feofimT fafau 242426
(i) eI sfifra
(ii) T 3T S
(jii) PH-TE
YT

freferiaa & S & srfefrn =1 TaTafie wifte fafa . 2+2+42=6
(i) UegHtEm
(i) Sy
(i) IATEH
Write short notes on the following : 2+2+2=6
(i)  Ncutralisation reaction
(i) Plaster of Paris
(i11) pH-Value
OR
Write the chemical equations for the reaction of water with the following : 2+2+2=6
(1) Aluminium
(1) Calcium

(i11) Iron
39-9TT — 11l / Sub-Section — I11

HITeh ST TR 7 HifAeh vada & ol 1 g8 § fafan | 1+3=4

What is vegetative propagation ? Write advantages of vegetative propagation in brief.
1+3=4

ﬁm%f@amwf‘mﬁmﬁﬁ%%n . 2+2=4

(i) F=queq ()

(i) iR | '

Write short notes on the following : 2+2=4

(1) Synapse ~

(il}  Auxin

qIftes ! gitarfia ST | arers ot & s aewli mrasu A aei i | 143=4

Define ecosystem. Describe different components of pond ecosystem in brief, 1+3=4

ﬁwmmﬁwﬂﬁwﬁrmﬂﬁaﬁﬁaﬁﬁﬂl 3+3=6
HYA
TS &R 16T 3 TR 9T & HE &1 Jfeg guiq SR | 6
Differentiate between Autotrophic nutrition and Heterotrophic nutrition with cxamglezg ]
+3=
OR
Describe functions of various parts of human alimentary canal with diagram. 6

—

Y i
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